Math 1020, Exam #2, Summer 2013 Name K - \/

Instructions: Show all work. Answers without work will not receive credit. Give exact values. Decimal

answers will not receive full credit unless you are specifically asked to round. Your answers should
include units when solving word problems.

1. a. Use the equation for the area of a circle to determine the area of a circular patio 30 feet

across. Round your answer to two decimal places. (8 points)
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b. If each brick measures 0.5 square feet, how many bricks are needed to complete the patio?
Round your answer up to the next whole numbers of bricks. (8 points)
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2. Solve the equations for the indicated variable. (8 points each)
a. 5x—9y =72, fory.
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3. Find the area of the shape. [Hint: break into simpler shapes.] (12 points)

L Lbn= L4t Ia Hedind
Arvsge= 3507 3 L o

: T = 6in
Aot . T, T RY. -

e

3 ' 2_

A = (3427 2 8. 28 02

4. Translate the following statements into algebraic expressions. Do not solve. (7 points each)
a. Three times the sum of a number and two is the same as twice the number and ten.

A(x+2) = 2X+ (0D

b. The difference of five times a number and six is the same as the quotient of that number
and four.

S5X-6b = I

5. An 86-inch length of ribbon is to be cut into three pieces. The longest is to be 12 inches longer
than the shortest piece, and the third piece is twice as long as the shortest piece. Find the
length of the ribbon. (12 points)
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6. The sum of three consecutive odd integers is 105. Find the integers. (12 points)

n+e) cMcd) = jo s
2n+b = (05
3n= 99
NnN= 33
Nt2=3S
Nnt4 = 37

If the sales tax on an item is 8% and the price after tax is $55.89, what was the price to the
nearest penny before tax? (12 points)

7.

X+ .083% =55, 89
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8. Consider a triangle. The first angle is 6° more than the s
less than the second angle. Draw the trian
of the three angles. { 12 points)
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econd angle. And the third angle is 34°
gle with the angles labels and then solve for the sizes




9. Two cyclists leave a city at the same time, one going north and one going south. The
southbound cyclist bikes at 8 mph faster than the northbound cyclist. After 4 hours, they are 72
miles apart. How fast is each cyclist riding? v (12 points)

vafe  Awe duo frce
N ¢+ 4
S ¢ 4 Qe+ 3244v=3 2
Pr+32=32
gc=4o
4lee) + 4y =72 =5
Northb k= l7‘:~5
=
10. The width of a rectangle is 2 inches less than half the length. Find the length and the width of
the rectangle if the perimeter of the rectangle is 38 inches. (12 points)
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11. Below are two problems from the last exam that many students missed. Here’s a second chance
at them. (5 points each)

a. Simplify: = (2x — 4) — 2(9x + 9)
2 3

K=2 —bx—b = —~Sy -8

b. Given the set of real numbers
{~142,1.72,1-7),0,v%, 3,%,45,@, 0.33,-12.121121112 ..., 35000}, state the

numbers in the set that belong to the types of numbers below:

i Irrational Numbersg‘\’-z9 , T_LT__ ) __ D— . 12” Zz 1t 2%

il. Integers

&My -, 0, 3, 4%, I, 35000



